
 

xd 8x 12g 56
x 3 18K 1 12g 9

26K e 65
x GI

26

x 2 Solution
Subfor sc in I 2

15 4g 3 y 3
4g 3 15

4g 12

ye 124
y

x3 9K 15 5333

x5 20 c t 152C 130

29 c 203



c 203
Tg 7

Sub for in 417 3g 26
28 t 3g 26

3g 26 28

3g 54
SC 7

y is s 5

y 18

52 25

K 2 5

Sub for x in
3C5 y 13
15 t y 13

SC 5 y 13 15

y z y z

x 3 9 39 3

t 142 7
x I I

14 Z



4 Z

S b for in

Iz t 3y 4

3 4 Ez
I 3g Iz

y Is y t

2 Adults and 3 children 28.20

3 Adults and 5 children 44.75

Let adult ticket cost A

Let child ticket cost c

ZA t 3C 28 20

3A t 5C 44.75

x5 10A t 15C 141

x3 9A t 15C f 134.25

A 6.75

Sub in 2 6.75 3C 128 20
13.50 1 3C 28 20

3C 28.20 fi 3.50
Adult 6.75 3C 14.70
Child E 4.90 c 14.703

4.90


